
SAP ABAP table T7PBSDEC_COSTS {XDEC: Cost Distribution Definition}

T7PBSDEC_COSTS

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

SRCWT [CHAR (4)]

BASE [CHAR (2)]

PRIWT [CHAR (4)]

SECB1 [CHAR (2)]

SECT1 [CHAR (4)]

SECB2 [CHAR (2)]

SECT2 [CHAR (4)]

SECB3 [CHAR (2)]

SECT3 [CHAR (4)]

SECB4 [CHAR (2)]

SECT4 [CHAR (4)]

SECB5 [CHAR (2)]

SECT5 [CHAR (4)]

T000

MANDT [CLNT (3)]

 T7PBSDEC_COSTS-MANDT = T000-MANDT 

0..N

1

T500L

MOLGA [CHAR (2)]

 T7PBSDEC_COSTS-MOLGA = T500L-MOLGA 

0..N

1

T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]

 T7PBSDEC_COSTS-PRIWT = T512W-LGART 

0..N

1
 T7PBSDEC_COSTS-SECT1 = T512W-LGART 

0..N1
 T7PBSDEC_COSTS-SECT2 = T512W-LGART 

0..N

1  T7PBSDEC_COSTS-SECT3 = T512W-LGART 
0..N

1  T7PBSDEC_COSTS-SECT4 = T512W-LGART 0..N

1  T7PBSDEC_COSTS-SECT5 = T512W-LGART 
0..N

1
 T7PBSDEC_COSTS-SRCWT = T512W-LGART 

{0,1}

1

T7PBSDEC_WTGRP

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

BASE [CHAR (2)]

 T7PBSDEC_COSTS-BASE = T7PBSDEC_WTGRP-BASE 

0..N

1

 T7PBSDEC_COSTS-SECB1 = T7PBSDEC_WTGRP-BASE 

0..N

1

 T7PBSDEC_COSTS-SECB2 = T7PBSDEC_WTGRP-BASE 

0..N

1

 T7PBSDEC_COSTS-SECB3 = T7PBSDEC_WTGRP-BASE 
0..N

1

 T7PBSDEC_COSTS-SECB4 = T7PBSDEC_WTGRP-BASE 0..N

1

 T7PBSDEC_COSTS-SECB5 = T7PBSDEC_WTGRP-BASE 

0..N

1


